
1203pkc Pattern Knit Cap

Summary
With main color, cast on with long-tail cast-on method. Work in k2p2 ribbing for 14 rows. Work 2 rows of st st, 
decreasing with k2tog on first st st row. Continue in stranded pattern stitch for 26 rows. On the next row, work in st 
st again, decreasing as indicated. After final row, cut yarn, thread tail through all remaining stitches, and cinch top 
of hat shut. With wrong sides facing each other, seam side of hat using mattress stitch. 

Abbreviations:
CO = cast on
k = knit stitch
k2tog = knit two stitches together
p = purl stitch
st st = stockinette stitch
#-#-# = rows-stitches-times
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Suggested yarn:
• Pierrot Yarns Traditional Merino [100% merino wool; 131 yds/120m per 1.41 oz./40g skein];
     • color #05 canary yellow, 1 skein [15g]
     • color #06 olive gray, 2 skeins [55g]

Tools/Notions:
• 3.6mm (approx. US 5) and 3.9mm (approx. US 6) knitting needles or sizes necessary to achieve 
  gauge
• darning needle

Finished measurements:
• head circumference 50cm/19.69"
• length 22.5cm/8.86"

Gauge (10cm/4" square):
• stranded pattern stitch: 24.5 sts and 26 rows
• stockinette stitch: 24.5 sts and 25.5 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, 
rework pattern with your own gauge measurements.
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